ACROSS

1. 52 =2
2. 280 + 2
6. 36 + 2
7. 836 + 2
9. 428 = 2
12. 324 = 2
14. 32 = 2
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228 + 2
372 = 2
28 + 2
576 =
996 -
488 =+
412 =+
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508 = 2
964 + 2
96 + 2
196
292 =
272 =+
228 =
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548 =
204 -
328 =
368 -
360 =
164 -
184 =
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ACROSS

I. 52 =2
2. 280 = 2
6. 36 + 2
7. 836 + 2
9. 428 + 2
12. 324 = 2
14. 32 = 2
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228 = 2
372 = 2
28 + 2
576 = 2
996 + 2
488 + 2
412 = 2

DOWN

I[. 508 += 2
3. 964 + 2
4. 96 + 2
5. 196 + 2
6. 292 + 2
8. 272 = 2
10. 228 = 2
11. 236 + 2
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204 = 2
328 = 2
368 +~ 2
360 ~ 2
164 = 2
184 + 2



